

โจทย์: (ง่าย) จงหาค่า

$$\textcircled{1} \int \sin^3 x \cos x \, dx$$

วิธีทำ. กำหนดให้ $u = \sin x$

$$\text{จะได้ } \frac{du}{dx} = \frac{d(\sin x)}{dx} = \cos x$$

$$\Rightarrow dx = \frac{du}{\cos x}$$

$$\begin{aligned} \text{ดังนั้น } \int \sin^3 x \cos x \, dx &= \int u^3 \cancel{\cos x} \frac{du}{\cancel{\cos x}} \\ &= \int u^3 \, du \\ &= \frac{u^4}{4} + C = \frac{\sin^4 x}{4} + C \end{aligned}$$

$$\textcircled{2} \int t^4 (\sqrt[3]{3-5t^5}) \, dt$$

วิธีทำ. กำหนดให้ $u = 3-5t^5$

$$\text{จะได้ } \frac{du}{dt} = -25t^4 \Rightarrow dt = \frac{du}{(-25)t^4}$$

$$\text{ดังนั้น } \int t^4 (\sqrt[3]{3-5t^5}) \, dt = \int t^4 (\sqrt[3]{u}) \frac{du}{(-25)t^4}$$

$$\begin{aligned}
&= \left(\frac{1}{-25}\right) \int u^{2/3} du \\
&= \left(\frac{-1}{25}\right) \frac{u^{4/3}}{(4/3)} + C \\
&= \frac{-3}{100} (3-5+5)^{4/3} + C
\end{aligned}$$

$$\textcircled{3} \int \frac{e^x}{\sqrt{1-e^{2x}}} dx$$

วิธีทำ. กำหนดให้ $u = e^x$
 แล้ว $\frac{du}{dx} = e^x \Rightarrow dx = \frac{du}{e^x}$

$$\begin{aligned}
\text{ดังนั้น} \int \frac{e^x}{\sqrt{1-e^{2x}}} dx &= \int \frac{u}{\sqrt{1-u^2}} \frac{du}{u} \\
&= \int \frac{1}{\sqrt{1-u^2}} du \\
&= \arcsin u + C \\
&= \arcsin (e^x) + C
\end{aligned}$$

□

ข้อสอบ: (ง่ายง่าย) ลงมือทำ

$$\textcircled{1} \int x^2 \sqrt{x-1} dx$$

วิธีทำ. กำหนดให้ $u = x-1 \Rightarrow x = u+1 \Rightarrow x^2 = (u+1)^2$
 จะได้ $\frac{du}{dx} = 1 \Rightarrow dx = du$

ดังนั้น $\int x^2 \sqrt{x-1} dx = \int x^2 \sqrt{u} du$
 $= \int (u+1)^2 \cdot u^{\frac{1}{2}} du$
 $= \int (u^2 + 2u + 1) u^{\frac{1}{2}} du$
 $= \int (u^{\frac{5}{2}} + 2u^{\frac{3}{2}} + u^{\frac{1}{2}}) du$
 $= \frac{u^{\frac{7}{2}}}{(\frac{7}{2})} + \frac{2u^{\frac{5}{2}}}{(\frac{5}{2})} + \frac{u^{\frac{3}{2}}}{(\frac{3}{2})} + C$
 $= \frac{2(x-1)^{\frac{7}{2}}}{7} + \frac{4(x-1)^{\frac{5}{2}}}{5} + \frac{2(x-1)^{\frac{3}{2}}}{3} + C$

๑ $\int \frac{\sin(\frac{1}{x})}{3x^2} dx$

วิธีทำ. กำหนดให้ $u = 3x^2 \Rightarrow x^2 = \frac{u}{3} \Rightarrow x = \sqrt{\frac{|u|}{3}}$
 จะได้ $\frac{du}{dx} = 6x \Rightarrow dx = \frac{du}{6x}$

ดังนั้น $\int \frac{\sin(\frac{1}{x})}{3x^2} dx = \int \frac{\sin(\frac{1}{x})}{u} \frac{du}{6x} \Rightarrow ?$

กำหนดให้ $u = \frac{1}{x}$

อีก $\frac{du}{dx} = \frac{d[x^{-1}]}{dx} = -x^{-2} \Rightarrow dx = \frac{du}{(-x^{-2})}$
 $\Rightarrow dx = -x^2 du$

ดังนั้น $\int \frac{\sin(\frac{1}{x})}{3x^2} dx = \int \frac{\sin(u)}{3x^2} (-x^2 du)$

$$= (-\frac{1}{3}) \int \sin u du$$

$$= (-\frac{1}{3})(-\cos u) + C$$

$$= \frac{1}{3} \cos(\frac{1}{x}) + C$$

③ $\int x^3 e^{x^4} dx$

กำหนดให้ $u = x^4$
อีก $\frac{du}{dx} = 4x^3 \Rightarrow dx = \frac{du}{4x^3}$

ดังนั้น $\int x^3 e^{x^4} dx = \int x^3 e^u \frac{du}{4x^3}$

$$= \frac{1}{4} \int e^u du$$

$$= \frac{e^u}{4} + C = \frac{e^{x^4}}{4} + C$$

$$\textcircled{4} \int \frac{e^x + e^{-x}}{e^x - e^{-x}} dx$$

วิธีทำ. กำหนดให้ $u = e^x - e^{-x}$

จะได้ $\frac{du}{dx} = e^x + e^{-x} \Rightarrow dx = \frac{du}{e^x + e^{-x}}$

ดังนั้น $\int \frac{e^x + e^{-x}}{e^x - e^{-x}} dx = \int \frac{\cancel{e^x + e^{-x}}}{u} \frac{du}{\cancel{e^x + e^{-x}}}$
 $= \int \frac{1}{u} du$

$$= \ln|u| + C$$

$$= \ln|e^x - e^{-x}| + C$$

$$\textcircled{5} \int [\sin(\sin \theta)] \cos \theta d\theta$$

วิธีทำ. กำหนดให้ $u = \sin \theta$

จะได้ $\frac{du}{d\theta} = \cos \theta \Rightarrow d\theta = \frac{du}{\cos \theta}$

ดังนั้น $\int [\sin(\sin \theta)] \cos \theta d\theta = \int \sin(u) \cancel{\cos \theta} \frac{du}{\cancel{\cos \theta}}$

$$= \int \sin u du$$

$$= -\cos u + C$$

$$= -\cos(\sin \theta) + C$$

$$\textcircled{6} \int \frac{dx}{\sqrt{8x-x^2}}$$

સોલ્. આપણે $8x-x^2 = -(x^2-8x)$
 $= -(x^2-8x+16-16)$
 $= -(x^2-8x+16)+16$
 $= 4^2-(x-4)^2$

આથી $\int \frac{dx}{\sqrt{8x-x^2}} = \int \frac{1}{\sqrt{4^2-(x-4)^2}} dx$

આપણને $u = x-4 \Rightarrow \frac{du}{dx} = 1 \Rightarrow dx = du$

$$\begin{aligned} \int \frac{1}{\sqrt{8x-x^2}} dx &= \int \frac{1}{\sqrt{4^2-(x-4)^2}} dx \\ &= \int \frac{1}{\sqrt{4^2-u^2}} du \\ &= \arcsin \frac{u}{4} + C \\ &= \arcsin \frac{(x-4)}{4} + C \end{aligned}$$

$$\textcircled{7} \int (\sec x + \tan x)^2 dx$$

સોલ્. આપણે

$$(\sec x + \tan x)^2 = \sec^2 x + 2\sec x \tan x + \tan^2 x$$

Note!

$$\frac{\sin^2 x}{\cos^2 x} + \frac{\cos^2 x}{\cos^2 x} = \frac{1}{\cos^2 x} \Rightarrow \tan^2 x + 1 = \sec^2 x$$

$$\Rightarrow \tan^2 x = \sec^2 x - 1$$

Hint

$$(\sec x + \tan x)^2 = \sec^2 x + 2\sec x \tan x + \sec^2 x - 1$$

$$= 2\sec^2 x + 2\sec x \tan x - 1$$

Soln

$$\int (\sec x + \tan x)^2 dx = \int (2\sec^2 x + 2\sec x \tan x - 1) dx$$

$$= 2\tan x + 2\sec x - x + C$$

□